
Nombre: 　　　　　　　 Fecha: 　　　　　　 Puntuación: 　　　

Multiplicar por potencias de diez (número faltante)

5, 938 × ________ = 593.8 9, 078 × ________ = 9078

4, 987 × ________ = 498.7 9, 594 × ________ = 9594

1, 129 × ________ = 112.9 8, 988 × ________ = 8988

2, 165 × ________ = 216.5 9, 464 × ________ = 946.4

10, 215 × ________ = 102.15 1, 711 × ________ = 171.1

7, 236 × ________ = 723.6 7, 594 × ________ = 75.94

3, 442 × ________ = 34.42 5, 701 × ________ = 570.1

7, 563 × ________ = 7563 10, 616 × ________ = 106.16

2, 509 × ________ = 25.09 2, 715 × ________ = 27.15

4, 84 × ________ = 48.4 8, 246 × ________ = 82.46
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Nombre: 　　　　　　　 Fecha: 　　　　　　 Puntuación: 　　　

Multiplicar por potencias de diez (número faltante)

5, 938 × 100 = 593.8 9, 078 × 1000 = 9078

4, 987 × 100 = 498.7 9, 594 × 1000 = 9594

1, 129 × 100 = 112.9 8, 988 × 1000 = 8988

2, 165 × 100 = 216.5 9, 464 × 100 = 946.4

10, 215 × 10 = 102.15 1, 711 × 100 = 171.1

7, 236 × 100 = 723.6 7, 594 × 10 = 75.94

3, 442 × 10 = 34.42 5, 701 × 100 = 570.1

7, 563 × 1000 = 7563 10, 616 × 10 = 106.16

2, 509 × 10 = 25.09 2, 715 × 10 = 27.15

4, 84 × 10 = 48.4 8, 246 × 10 = 82.46
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